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L S X MATHEMATICS
Time Allowed : Twoe Hours and Thirty Minutes Maximum Marks : 300

INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
. THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES
OR ITEMS, ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
2 and Test Booklet Series A, B, C or D carefully and without any omission or discrepancy at
the appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render

the Answer Sheet liable for rejection.

3.- You have to enter your Roll Number on the Test Booklet in
the Box provided alongside. DO NOT write anything else on
the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You will select the response which you
want to mark on the Answer Sheet. In case you feel that there is more than one correct response,
mark the response which you consider the best. In any case, choose ONLY ONE response for each
item. ’

5. You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

6. All items carry equal marks. :

7. Before you proceed to mark in the Answer Sheet the response to various itemis in the Test
Booklet, you have to fill in some particulars in the Answer Sheet as per instructions sent to you
with your Admission Certificate.

8. After you have completed filling in all your responses on the Answer Sheet and the examination
has concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted
. to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :
¢ THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

{i} There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, one-third of the marks assigned to that
question will be deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
guestion, \

(iii) Ifa question is left blank, i.e., no answer is given by the candidate, there will be no penalty
for that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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1. Suppose ® is a cube root of uni . =25 :
o v 4. 1If z=x+iy=[1 l) , where i = /=1,

with w= 1. Suppose P and Q are the 2 P
points on the complex plane defined then what is the fundamental amplitude
by ® and w?. If O is the origin, then of Z—JQ?
what is the angle between OP and 0Q? z2-i2 ?
a)
{a) 60° (@
) -
{b) 90° 2
' n
o C =t
{cj 120 fc 3
{d) 150° (d) n .
4
2. Suppose there is a relation * between the 5. If
positive numbers x and y given by x*y : .
; : 2 . ; —
if and only if x < y“. Then which one Fie) - flxy) =f[1xi sz
of the following is correct? x1xg |
faj = is reflexive but not transitive and for x;, x5 € (-1, 1), then what is f(x)
symmetric equal to?
’ =X
(b} = is transitive but not reflexive and (@) In 14
symmetric
(b) ln( 2+ xj
fe} *is symmetric and reflexive but not o\ lex
transitive _
fc) tan'l[;—x)
{d} *is symmetric but not reflexive and +x
transitive 1+x

(d) tantl(l—]

3. If x2 - px+4 >0 for all real values of x,

then which one of the following is 6. What is the range of the function

correct? _ x?2 .
- 1+ x2

@) Ipl<4 :

where x eR?
(b) |pls4 {a) [0, 1)

0, 1

€ |pl>4 18 &

fe) (0, 1)
[d) |p|=4 d) (0, 1]

B-OEBA-P-QEX/55A 2



A Rl i

Your Personal Exams ¢

1w AR B o T (GRR) T e ek 4 a0 zoxeiy=(L 'J—z,aﬁimﬁ_l

w132 79 T P 3R Q, 0 FW 0? TN 2 B
s wffy waqw W fagd 21 3k o z~2 )
%ﬁa%é‘tmaﬁtoo%aﬁamaﬁw %?hz z\/“wnﬁmw%
w7
fa) =
(@) 60° ) 323
{b). 90°
. b4
. () 120° @3
o ' . T
(d) 150 @ 7
2. W it 5 v gEmel x R y ¥ o 5. AR xg, xy e (-1, JF R
T Y+ 79 TR R T R R xxy, AR %y
R ¥ AR x<y? ¥ A Pefle 43 Sla)- f(X2)'f[1 xlxzj
HR-H1 T el 87 :

?, A £(x) Poes TR A

w0 nft)

+ X

(a) *W%éﬁqwaﬂtwﬁa?ﬁ :
(b) T & AR wge S W

: . . (b) ln(2+x)
o) » w3 g § AR g Tl T
(d) »wuafig § TR Tged 3 TS el © t&m_1(1 x)
: 1+x
s x ¥ wh wwhe wh ¥ fm @ wol{ftE)
x2 - px+4 > 0%, o Fefafag & @ =R-w '
T w7 .
: 6. Wy"- T 9UH TR, & xeRBP
(@ Ipl<4 1+ x%
* @) [0, 1)
b) |p|s4
. (b) 10, 1]
{C) kel =% (e} (0, 1)
[d |plz4 (d) (0, 1]

B-OEBA-P-QEX/55A 3 [P.T. O



www.prepp.in . repp

Your Personal Exams Guide

7. A straight line intersects x and y axes © 11. Consider the following statements
at P and Q respectively. If (3, 5) is the
middle point of PQ, then what is the
area of the triangle OPQ? 2. f(®) =g has a solution.

1. f(8)=2 has no solution.

{a} 12 square units

@) 15 it Which of the above. statements is/are
square units )

correct?
{c) 20 square units
1 1
{d) 30 square units (@ ORy
8. If a circle of radius b units with centre ' (b) 2 only ,
at (0, b) touches the line y=x-+2,
then what is the value of b?
,(a} 2+J§ (C} Both 1 and 2
() 2-32 : ' .
fc} 242 _ | {(d) Neither 1 nor 2

(d 2
. i
For the next two (2) items that follow :

For the next three (3) items that follow :
Consider the curves
Consider the function

o dfein? 4 _
f(8) =4{sin“ 6 +cos" 8} / ﬁ, 2 i
‘ fix)=x[|x|-1and g(x)=1 2
9, What is the maximum value of the : 12x, x=<0

function f(8)?

@) 1 12. Where do the curves intersect?

(b) 2 :

@ 3 fa) At (2, 3) only

d 4 : ;
10. What is the minimum value of the - (b} At (-1, -2) only

function f{08}?

e 0 fc) At(2, 3)and (-1, -2

m 1 f) At (2, 3)and (-1, -2)

c) 2

d 3 {d} Neither at (2, 3) nor at (~1, -2)

B-OEBA-P-QEX/S5A 4
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7. TF W W x 3R y & W Fww: P AX Q

W wfr=dfea wh 21 3l (3, 5), PO W wea-

fog 7, A B[ OPO %1 &awet w1 §7
(a) 12 7 g
(b) 15 T FHIg
{c) 20 @1 gHRE
(d) 30 a7 s
8. aft Bsw b TS 3R IR (0, b) W T ¥,

W y=x-2 F T el B, A b H TH
1’7

fa) 2+2
th) 2-2
fc) 242
{d) 2

AT A qe A (3) Wwiw & v

T f(8) =4(sin® @ +cos? 0) W TER

Hifsm

9. %o f(0) 1 Afieman o = 7
{a) 1
{b):2
fc) 3
() 4

10. & £(9) 1 =T qH w41 87
fa) 0O
(b) 1
fc) 2
fd) 3
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11. T=fofas s w e Hifvg ;.
1 f(9)=2'eb‘raﬁ§3aqﬁ%|
2. Fl6)= W THE

It FH A | HH-1/R wE R /AT
(a) &€ 1

(b) e 2

fc) 1-31R2aH

(d) ID1AId2 -

AT I G Y (2) TIEiwit % for :

Tﬁ. flx)=x|x|-1

E.
q gix)=4 2°

2x, x50

x}O

R foram ifsg
12. ﬁa%w“sr%%@am%?

(a) Fa= (2, 3)/TR
(b) FAA (-1, —-2) |
) (2, 3)3M (-1, -2) W

(d) A (2, 3)WIRIA (-1, -2) W

[P.T. O,
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13. What is the area bounded by the curves?

(a) l—g square units

(b) —2— square units

fc) 2 square units

(d) % square unit

For the next two (2) items that follow :

Consider the function

14. How many ‘solutions does the function
fix)=1 have?

{a) One
(b) Two
{¢} Three

{d] Four

15. How many solutions does the function
fl(x)=-1have? "

faj One -
{b} Two
{c) Three '

{d} Four

B-OEBA-P-QEX/55A
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For the next two (2) items that follow :

Consider the functions
v A " 1
7120 = xg(x) and g(x) = 2]
where [-]is the greatest integér function.

. .
16. What is |2 g(x}dx equal to?
. 3

@ <
® 5
@ =
@ =

1
17. What is |, f{x)dx equal to?
3

37 2
4 7 ® 3
@ @ S

72 144

For the next five (5) items that follow :

Consider the function

flx}=1x-1|+ x2
. where xR,

18. Which one of the following statements
is correct?

{a) f(x) is continuous but not
differentiable at x =0

(b) f{x) 1is continuous but not
differentiable at x =1

(¢} flx)is differentiable at x =1

(d) f(x) is not differentiable at x =0
and x=1
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13. T T3 5 UReEg Sehel w47 27 : AT 3 I S (2) T & T
17 s
@ i | T flx) = xg(x) A glx)=[ 1] [
Hitrwam oIl Fer 8, W =m i)
8
8 i
® 3 i 16. jfg(x)dxﬁﬁa%arra{%?
() 2w i -
6
1
(@ ¥ e ) %
© =
T W A < (2) Ty F R &
(d) —
36

2/3 _
Wf(x):Mmﬁmﬂﬁﬁm
17. [, flx) dx T w37
14. %eH f(x)= 1% S g &7

37 ' 2

{a) 7—2 , (b) 3
@ &= 17 87
¢ == (d —
w2 72 144
(0 @ | T ST AT UTT (5) W9 o Y |
- B f(x)=|x~1]+x2, 5@ xeR ¥, W
CRL firam i

18. fr=ffen sut # & FH-T & a9 17

45, R 0w d
15. e f(x) = -1 Lk @ fix), x=0 R Haa ¥ fg sFaeria

(@) @ | il |
‘ . (b) flx), x=1W Haa & frg smEwery
(b} @A ' B
o S (c) f(x),x=1ﬂtaxaw=ﬂtr%
' (d} fix), x=0 3R x =1W AFHI T&
(d} = A :

B-OEBA-P-QEX/55A 7 [P.T. O.
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19. Which one of the fol]ow"ing-.statements
is correct?

fa)

{b)

{c)

(d

fix) is inc;reasing in [— oo, %) and
S ( 1 )
decreasing in 5 ea

flx) is decreasing in (— ea, %J and

. P 1
increasing in [5, ooj

flx) is increasing in (-, 1) and
decreasing in (1, o)

Sf(x) is decreasing in (-, 1) and
increasing in (1, o)

20. Which one of the following statements
is correct?

(@)

(b)

fc)

(d)

f{x]) has local minima at more than
one point in (— e, )

fix) has local maxima at more
than one point in (- o, =)
f(x) has local minimum at one

point only in (— oo, o)

f(x} has mneither maxima nor
minima in (- oo, co)

21. What is the area of the region bounded
by x-axis, the curve y= f(x) and the

two ordinates x'=% and x =17

(@)

(b}

{c)
(d)

5 .
-—— square unit
12

5 .
E square unit

7 ;
5 square units

2 sguare units .

B-OEBA-P-QEX/55A
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22. What is the area of the region bounded
by x-axis, the curve y= f(x) and the

two ordinates x = l-and x = g?

(@)
{b)
(¢

{d)

5 ;
— square unit
12

7 .
-— Square unit
12

2 .
3 square unit

11 ;
— square unit
12

For the next two (2) items that follow :

Given that

.2

. x sin“ {(n+ 1) x}

a, =| ——————dx
" JO sin2x

23. Consider the following statements :

1.

2.

The sequence {a,,} is in AP with
common difference zero.

The sequence {a,, ) is in AP with
commeon difference zero.

Which of the above statements is/are
correct?

{a)
(b)

fc}

(@)

1 only

2 oniy

Both 1 and 2
Neither 1 nor 2

24, What is a,,_; —a,_4 equal to?

(@ -1
() ©
@ 1
@ 2
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19. Frefafen %ol § & #a-w o W 7.

s (o ) 8w 4,
¥ e B

o 0 (= 2) 3 o (4
# o 2 _

() f(xj, (o0, 1) # TR 3R (1, =) &
BTOH 2

(d) flx), (—ee, 1) H FEEE 3R (1, ) &
F9aM 2

20. Frferfaa #um) 3 ¥ .- mrqmq'gﬁ%?

(@ f(x)%&, (-, m)ﬁ@‘ﬁ atferr figati
W g sifeus §

(b} Fx)%H, (-, o) ¥ T W s figail
R Mg 38

(c) f(x) T, (~o, =) # et 0F fog W
TR s1fous %

{d) fix)®, (-, )T 7@ 3fEm 2 el
A g Afm

21. x-9§, 9% y= f(x)aﬁza‘tﬁﬁeﬁx;
x = 10 TNeg WoT =1 S5ha &7 /7

(@) S of yand

12

(b) gaﬁmé

1 o
2

{c) gaﬁﬁé

(d) 231 5
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Your Persona | Exams ¢

22. x-#4, 9F y= f(x) I A Fedl x =1 @
x=gmmmwmwa

5 ;
(a) Ea‘fﬁfﬂﬁ

W) 157 v
(c) %aﬁ%‘ré

() i—zl Tt g

HTT 3T AqTeT &Y (2) TEie % v

ﬁmw%ﬂ% jnsm {(n+1)x}dx

sin2x

23. ﬁmﬁvxﬁaﬁaﬁuﬁm%mﬁﬁq

1. gﬁ {a2n}! -{Tﬁ ‘?’:'a-{ -QH % “HT?I
AP # %)

2. AP {ag,, ) 9@ FR [A F WY
APH 3|

ST HUA T/ BE-T/4 1 /Y
.(a) &4 1

(b} A 2

(¢ 1 3R 2

| (d T 1RAd2

24. a,_; -a,_, 5% st 7
(@) -1
(b) 0
© 1
(d) 2

[{P.T.O.
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For the next two {2) items that follow : 28. The centroid of the triangle is at which

Consider the equation x +|y| = 2% one of the following points? ,

25, Which of the following statements are . {a) (3, 6)
not correct?
1. y as a function of x is not defined (b) (fﬁ_ 6)
for all real x. 2’ i
2. y as a function of x is not .
continuous at x = 0. : ) (3, 3)

3. yas a function of x is differentiable
for all x. ‘ 73
@ (3 9)
Select the correct answer using the code 2
given below,

{fa) 1 and 2 only

{b) 2 and 3 only

For the next two (2) items that follow :
fc) 1and 3 only - ' Congfder the function

(d) 1’_2 and 3 Flx)=(x-1)2 (x+1)(x~2)°

26. What is the derivative of y as a function

ng. What is the number of points of local
of x with respect to x for x < 0? s " r poln’s

minima of the function f(x)?

faj 2 (b} 1
1 1 {a) None
e dl =
@ @ 3
(b} Omne
For the next two (2) items that follow :
’ fc} Two
Consider the lines
y=3x, y=6x and y=9 ) (d) Three

27. What is the area of the triangle formed by

Fiose Tnes? 30. What is the number of points of local

07 maxima of the function f(x)?
{a) 5 oA units :

o ) {a) None
(b} =, sauare units

() One

{c) 2 square units

4 (e} Two

19 :
(d} — square units

2 {d} Three

B-OEBA-P-QEX/55A 10
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ST ST ST T (2) T ¥ R
THiE x + |y} = 2y T = A

25. Fefafa wot § @ $9-8 98 72 §7

1. y, x BeM & &9 0, gt Iafas x &
forg wftmfia 7€ 21 -

2.y, x % %A F ®IH, x = 0 R Fad TE
Bl '

3. Yy x % Hed F w4, gft x F R
JFFAAT B

A3 e T o A R R g
(a) e 1 3R 2
(b) e 2 3R 3
c) a1 33
(dj 1,233

26, yF xF TH T F Y xF WG 2 <0
% g sreperst = 27
(a) )

1
() @ %

B B

AT W FTR T (2) Sy ¥ forw

@i y=3x, y=6x I y=9 W TER
i)

27. W @i g il fiyge w1 deee w0 @7
(a) %a‘f‘ﬁfﬁ-

(b) %aﬁsﬁ
(c} Z—gaﬁsaa‘ré

(d) %gaﬁﬂ?ﬂé

B-OEBA-P-QEX/55A
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28.@ﬁﬁmﬁﬁ$ﬁﬂﬁﬁaﬁgﬁﬁﬁ%ﬁ
wE .

{a} (3, 6)

v (29

(¢} (3, 3}

@ (39
AT W A Y (2) T % R

B flx) = (=12 (x+ 1)(x-2)3 W

fomm Sifem)
29. T f(x) F Foa v sifcyg fag #7
(a) 1T
(b) T
(¢ A

(d) =

30. e f(x) ¥ Fea wrfia s fig #7
(@) g
(b) TH
() @

(d) @

. [P.T.O.
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31. Let f(x) and g(x) be twice differentiable For the next two (2} items that follow :
functions on [0, 2] satisfying _ _
CFx) = g (x) F)=4 g(1)=6 7 Consider the function -
f(2)=3 and g{2}=9. Then what 1is _ [
i - = el 3
fix) _g(x] at x =4 equal to: Flx)=| 6 -1 0
(@ -10 . p p° 93
(b} -6 where p is a constant.
) -4 34, What is the value of £(0)?
(@ 2 (@ p° . () 3p°
. @ 6p° (@ -6p°
For the next two (2) items that follow :
Consider the curves 35. What is the value of p for which
“(0) =07
y=lx-1land |x|=2 V! = O
| ; (a) 4 or 0
32. What is/are the point(s) of intersection of 6 o
the curves?. ‘
: (b) -lor O
b
@) (-2, 3) oni
(@) (-2, 3) only R
(b) (2, 1) only .
{d -lorl

i+

fc) (-2, 3)and (2, 1)

) For thé hext two (2) items that follow :
(d) Neither {-2, 3) nor (2, 1)

Consider a triangle ABC in which

33. What is the area of the region bounded cosA+cosB+cosC=43 ..
by the curves and x-axis? 3
(a}. 3 square units ' 36. What is the value of sin—gsingsing?
b) 4 square units 1 1
(b) q 1 (@ = (b) —
2 4
{c} 5 square units
- o 1 @ =
(d) 6 square units 8 16

B-OEBA-P-QEX/55A 12
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31, 9 T f{x) 3R g(x), [0, 2] | A IR
HFFT wEH ¥ WA f(x) = g'(x),
f)=4, g(1)=6, f(2)=3 3 g(2)=9
® GEE WG g T x=4 W f(x)-g(x)
Topers s B7
fa) -10
(b) -6
fc) -4

(@) 2

AT ST AT =Y (2) s % forg
TR y=|x- 1|3 |x| = 2 W F=w fifg
32. T T T/ vk fig T A/
(@) ¥ (-2, 3)
(b}' & (2, 1)
{o) (-2, 3) 32, 1)
@ AR (-2, 3 IR (2, 1)
33. 7 N x-om T T P A
MR
fa) 3afgws -
(o) 4= g
fc) 5= R
@ 6 v

B-OEBA-P-QEX/55A
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AT 3 T = (2) T % g
T
x% sinx cosx
fix)=| 6 -1 0
p p* P’

el p T 3R 8, W FFEw FHifm)
34. f'(0) % WH FTR?
(@ p° (b) 3p°

(c) 6p> (d) -6p°

35, p* AR & W £7(0)= 087

{a) —émo
(b) -1 0
fc) —-é?ﬂl
@ -1411
AT T TR B (2) WAV * T
w By ABC, R

- cosA+cosB+cosC= ﬁsing

#,  ferem Afsr

36. sinésingsing'&?l qH ¥4 27
2 2 2

1 1
(a) 2 (b) Y

@ =

1
€ 3 16

epp

[P.T.O.
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37. What is the value of:
(A+BJ [B+C) (C+AJ
cOoSs cos cos ?
2 2 2

fa)

2
4

(b)

B

fc)

None of the above

(d)

For the next two (2) items that follow :

Given that tana and tanp are the roots
of the equation x2 +bx+c=0 with
b=z0.

38. What is tan(a +p) equal to?

fa) b(c-1)
(b) c(b-1)
fc) e(b-1)""

(d b(c-1)"1

» 39. What is sin(a +) seco, secf equal to?
fa) b
(b) —b
fc) ¢

—C

(d)

B-OEBA-P-QEX/55A

For the next two (2} items that follow :

Conmder the two circles
{xe 12 +(y 3) 2 and
x%+y? -8x+2y+8=0
40. What is the distance between the centres
of the two circles? '

{a) S units
{b) 6 units
{c¢} 8 units
(d)

10 units

41. If the circles mtersect at two distinct

points, then which one of the ‘following
is correct?

(@)

(b) 1<r<?2

r=1

{fc) r=2

{d 2<r<8

For the next two (2) items that follow :

Consider the two lines |

x+y+1=0and 3x+29+1=0

42. What is the equation of the 11ne passmg
through the point of 1ntersectlon of the
given lines and parallel to x-axis?

@ y+1=0
() y-1=0

@ y-2=0 O
@ y2=0 o

14 B "‘1‘.“ _‘:__
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A+ BJCOS(B+ CJCOS(C+ A) & WA
2 2 2

w27

37. -cos[

(a)

B

{bj

B =

€ g

(d) 39 H Q= T

AT Iy e Y (2) st % R

o ™ ® % tana 3R tanp, wHiEw
x% +bx+c= 0% YA 8, Fel b # 08l

38. tan(o +p) e e 37
fa} b{c-1)
(b} c{b-1)

(c) c(b-17!

d blc-1)"!

39. ;in(b%:g;is) seco, secp TR TR 37
@) b’ |
(b) ~b
(0 c

[d - -

B-OEBA-P-QEX/55A
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MY 3 TS T (2) Ty o T

A g (x-1)2+(y-3)2=r2 3K

x2 + y? - 8x +2y+ 8 = 0 T 4= Hifsw)
40.%@%3@%%@{&@1%?

@ 5w

(b) 63";51?

(c) 83

(d) 103;151%
41.aﬁqaﬁm-wﬁgaﬁmuﬁﬁaaﬁ{ﬁ%,

W fffas § & #9-w o wd 87

@ re1

(b)  1<r<?2

(c) r=2 |

(df 2<r<8

A 21T avet 21(2) Tyt % o

3 @ x+y+1=0 3 3x+2y+1=0
o Rram fif '

a2. 3 T Y@l ¥ whde fig ¥ T ael aiR
 x-3E % WA T A = 8t

(@) y+1=0
.(b)
{c)

(@

[P.T.O.
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43. What is the equation of the line passing
through the point of intersection of the
given lines and paraliel to y-axis?

(@) x+1=0
(b) x-1=0
fc} x-2=0

(d) x+2=0

For the next two (2) items that follow :

Consider the equation
ksinx+cos2x =2k -7

44, If the equation possesses solition, then
what is the rhinimum value of k?

(@ 1

(b 2

fc) 4

(d) 6

45. If the equation possesses solution, then
what is the maximum value of k?

faj 1
(b) 2
fc 4

[d 6

B-OEBA-P-QEX/55A
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For the next two (2) items .thai;-follow r

Consider the function

gl xbx
a 1

flx)=—-—--—

ix]+x

where [.] denotes the greatest integer
function.

46. What is lim f(x) equal to?
x—0+ i

@) 1
(b) Ina
fc) 1-at

{d} Limit does not exist

47. What is lim f(x) equal to?
x—0-

fa) O
{b)- Ina
{c 1-a!

{d) Limit does not exist

For the next two (2) items that follow :

Let 2z, 2z, and 2z; bé non-zero
complex numbers satisfying z2

= {Z,
where i = /-1, '

48. What is 2; + 2z, + 24 eqﬁal to?
(@ i |
(b} -i
fc/ O
(d) 1
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43. @ 7 Yensl ¥ yioede fig A oA awt ik
yaa%m%@mwﬂww%?

{a) x+1=0
(b) x-1=0
fcg x-2=90

(d x+2=0

M AT =T A (2) TeIw % fRrg

e ksmx+c082x 2k-7 W FER
aﬁﬁ%m

Mwﬁaﬁwww% ?ﬁszgmtrm
7

fa) 1
(b) 2
(c} 4

(d 6

[

45. aﬁmﬁwww% @k AR A
wnar

@ 1
(b} 2
fc} 4

“{d b

B-OEBA-P-QEX/55A
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mﬁmﬁa@ﬁqzymﬁ%%ﬂ

gl*l+* 1
[x]+x
qurieh e e e R, o feram hifs

WM f(x) = , el [] s

46. lim F () Tormer st 27

(@ 1
{(b) Ina
fc) 1-a1

() g (Rafie) =1 arfeaes i @

47. lirggf(x}ﬁm%'aﬂa‘( 27

{faj O
A(b_} Ina
f¢) 1-a7!

- {d) W.(%ﬁz)waﬁlaq-eﬁ%

ST ST AT A (2) S ¥ for
AR B 2, 2, Iz, T A

wed €, s 22 _zzﬁﬂ'g'aaﬂ?ﬂ% RE
i=J-181

48. 2, + 2z, + 24 Foreris TR 7
(@) i
(b) i
fc)- O
fd 1

© L [P.T.O..
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49, Consider the following statements :
1.  2,2,z5 is purely imaginary.

2. zjzy + 24923 +232) is purely real.

Which of the above statements is/are

correct?
{a) 1 only
(b} 2 only’

{c) Both 1 and 2

{d] Neither 1 nor 2

For the next two (2) items that follow :

Given that log,y log, x, log,z are
in GP, xyz = 64 and x°, y°, z° are in AP.

50. Which one of the following is correct?

x, y and z are

fa) in .AP or-lly

{b) in GP only

fcj in both AP and GP

(d) neither in AP nor in GP

B-OEBA-P-QEX/55A
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51. Which one of the following is correct?

xy, yz and zx are .
(@ in AP only
(b} in GP only

{c} in both AP and GP

{d) neither in AP nor in GP

For the next two (2} items that follow :

Let z be a complex number satisfying

E:ﬁi';l and |- 2 ‘
z-8 z-2
52. What is |z] equal to?
fa) 6
(b) 12
fcj 18
(d) 36
63. What is Z-1g equal to?
z+6 > ey
{a) 3
(b} 2
0 1
(dj O

q
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51. F=fafas ¥ @ 99-w & 9t 87

xy, yz 3 zx

2. 22 + 2974 + 232 UGA: TEAR B

ST e § | -/ ad /20
(a) Fad 1

(b) HIA 2

'{c} 1-$ﬂtza=ﬁ

(@ Fd1IMIA2

3R 31T AT B (2) WEAW o T

T T log, y log.x,
GP ¥ %, xyz=64 % 3 X3, y

APHEl
" 50. fefifea § ¥ F9- T w20

x, y ¥R z

(a) FFF APH B

(b} FIFGPH R

() AP@ul GPERI & §

\(d} IAAPR SRTA GPHE

B-OEBA-P-QEX/55A

(@) e AP HE

(b) FaA GPH %

(c) AP SR GPEFIH 3

(d TAAPHE I AGPAE

HET I AT | (2) Wi & forg

T it B 2z w iy g o}, W

z““l:lsﬂt 2_| -3 vge w3
z—8 2

z-2
52. |z| forues s 27

(@) 6
log, z

3. 23 (b) 12

c) 18

(d) 36

z-6
z+6

53.

et TR 27

fa) 3
(b) 2
{cj 1

{d o

19 - [P.T. O.
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For the next two (2) items that follow :

A function f(x) is defined as follows :

{

X+ for xeg[-m, O)

T

54. Consider the following statements :

1. The function f(x} is continuous

at x=0.

2. The function f(x) is continuous

at x=£.
2

Which of the above statements is/are

correct?

{fa} 1 only

(b} 2 only

{cj Both 1 and 2
{d} Neither 1 nor 2

55. Consider the following statements :

1. The function f{x) is differentiable

at x=0.

2. The function f(x) is differentiable

at x=£.
2

Which of the above statements is/are

correct?

{a} 1 only

{b) 2 only

fc) Both 1 and 2
{d) Neither I nor 2

B-OEBA-P-QEX/55A

nCosSX for xE[O, 5

20

prepp

Your Personal Exams Guide

For the next two (2) items that follow :

Let o and B {0 <B) be the roots of
the equation x2 + bx + ¢ = 0, where b > 0.

and c< 0.

56. Consider the following :
1. Pp<-u
2. B<|of

Which of the above is/are correct?

{fa) 1 only
{b) 2 only
fc) Both 1 and 2

{d) Neither 1 nor 2

57. Consider the following :
1. o+f+op>0
2. «?B+p2>0

fa) 1 only
(b} 2 only
{c) Both 1 and 2

{d) Neither: i nor 2

ST

.
: \th-'
e

Which of the above is/are correct?
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aT T AR R ) W S R STt T T 9 (2) weiEt 6 v

© T HEH f{x) FeEeed 9 8 aftefe R N B (a<p) wiEE
x+m , xe[-m, 0)%%@ .ngf-bx+c=0%'{f"f%, & b>0 3R
c< 0%l
TCOSX , xe|:0, E}%ﬁ“ﬂ l '
| Sfx)=1 2 56. Frfafas w faem fifs
o A T - 1. B<-a
[x 5]., xe(E, n]as%m 5 Bellud
5. P wr R AL s S el - T e
1. x = ' .
HH f(x), X oqm"cm%l b S
2. Wf(x),x=-g_mm%|‘
S EEEE R R R & ™
fa} Fa 1 _ (c) 1 R 23
(b) F 2 Y o @ AR LA

Cfo) 1.3 2 @t

(d) q?ﬁlaﬂtj%ﬁz 57 § - -

1. o+B+af>0
2. a2B+p% >0

55. Frafafan #um w famm fifte
1. WEM f(x), x = 0T FawEEH

2. .Wf(x),ngq'(iﬂm%l | wﬂﬁﬁﬁﬁq-m/@aé%/%?
T Fe @ AR-a/d w4 @ ¥l ot
(@) Faa1 .
T (b)) FEA 2
(b) FaA 2
e ) (¢ 13m2eat
@ AW Ead 2 - (@ @1 RAE 2

/

B-OEBA-P-QEX/56A 21 - [P.T.O.
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For the next three f3} items that follow :

Consider a  parallelogram  whose

vertices are A(l, 2), B{4, y), C(x, 6)

and D(3, 5) taken in order.

58. What is the value of AC% — BD??
5 fa) 25

(b} 30

{c} 36

(d} 40

59. What is the poiﬁt of intersection of the
diagonals? ‘

o (3

(b} (3, 4)

@ (39
d (3, 95)

60. What is the area q_f the pai-allelogram?

{aj % square units

{b) 4 square units

{c) % square units

(d)’ 7 square units

B-OEBA-P-QEX/55A

For the next four (4) items that follow :

63. What is f’'/(10) equal to?

prep
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Let f: R =R be a function such that

Fix)= %3+ x2 £+ xf (204 £71(3)

for xe R

61. What is f(1) equal to?

=

‘(a) -2
(b -1 : .
c) O
@) 4

62. What is (1) equal to?

| (@) -6
(b} -5
(c) 1

{d 0 .

fa) 1
(b) 5
fc) ©

@ 8
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maﬁmﬁm(a)mﬁ%m: : AT A T W (4) Ty & oo
T gHa-agds, e wWd, we owm W, M @ 5 o wew £ Rakww%
Al(l, 2), B(4, y), C(x, 6)3ﬂTD(3 5) %, B xeRs fou
e i Flx)=x3 + X2 FU)+ F(2)+ £77(3)
58. AC? -BD?2® AR ®MR! 3
) 25 61. fF(1)Fre® s 27
(b} 30
fa) -2
fc) 36
) -1
(d) 40
(¢ O
59. WWWE%@W%? (d 4
o (2
62: f'(1) frus T 27
() (3, 4) B
@ (5 | s
_ {fc) 1
(d) (3’,‘ 5) ) = 0N e et i
{d) 0

60. TR -TGYT F1 AAFA T 27
63. f’"(10) foreeh =T 27

fa) 1
(b) 4 = T
(b) 5
() = v '
2 - fc) 6
(d) 7 = Ty (d) 8
B-OEBA-P-QEX/55A 23 [P.T.O.
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64. Consider the following : ' 66. What is the equation of the plane P? -

. f(2)=f(1)~ f(0) | (@) 2x+5y-2=0

2. . fU(2)-2f(1) =12
: () 5x+2y~5=0
Which of the above is/are correct?

fc x+z-2=0

{a) 1 only
(dl 2x-y-2z=0
(b) 2 only
67. If the plane P touches the sphere
fc) Both 1 and 2 x? +y2 +z2 = r?, then what is r equal
to? .
{d} WNeither 1 nor 2 2
(@) —
29
For the next three (3) items that follow : 4
(b)) ——
: . o) V29
A plane P passes through the line
of intersection of the planes
5
2x~-y+3z=2, x+y—-z=1 and the ¢) ——
. y y . fc) 55
peint (1, O, 1).
@ 1

65. What are the direction ratios of the line of

intersection of the given planes?
For the next two (2) items that follow :

(@) (2, -5, -3) Consider the function

filx)=|x%-5x+6|

) {1, -5, '—3) | , 68. What is f'{4) equal to?
fa) -4
{c) (2, 3, 3) (b) -3
7(C} 3
(d (1,3, 5) (d) 2
B-OEBA-P-QEX/55A _ 24
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64.ﬁﬁ%rﬁgaqiﬁirr(aﬂﬁm: , , 66. THAE P 1wt 1 B7

1L f(2)=f(1)- f(0)
2. fr)-2f(n=12

(@) 2x+5y-2=0

(b) 5x+2y-5=0

w8 & AT/ T B/
fc) x+z-2=0
(a) 9 1 : (d) 2x-y-2z=0
) =2 | 67. AR W P, WA x2 4 y2 +2% = 72 F W
R A1 8, A r foress s 87
c) 1323
{a) _2_ '
29
(d) ad 1R 2
4
{b) 55
AT TR o q=H o * : S
. (3) st & fer ;- € 73
TF THAA P, @Hadl 2x-y+3z=2,
xty-z=1 9 wRedw @ o fig @ 1
(1, 0, 1) ¥ eRAT &1 - =
= 65. R T waeh  wfreded Yo b RE-sETd o o a8 (2) wearet 3
w0 87 -
FeH fix) = |x2 - 5x+ 6| TR FRm)
(@ (2, -5, -3) 68. f'(4) Trad wer 37
(b} (1, -5, -3) (@) -4
(b} -3
) (2, 5, 3)
| | () 3
(@ (1, 3, 5) @ 2
B-OEBA-P-QEX/55A | 25 . [P.T.O.
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69. What is f'’(2-5) equal to? . For the next two (2} items that follow.

fa} -3 : Consider a circle passing through

the origin and the points (a, b)
b} -2

and (- b, —a)
fe) O
_ 72. On which line does the centre of the
{d) 2 circle lie?
s . . i +y=0
For the next two (2) items that follow : _(a) aal
Let f(x) be the greatest integer function (b) x-y=0

and g(x)} be the modulus function.

fc} x+y=a+b

70. What is (gof)[;éj-(fog)[-g) equal

3 {d) x-y=a?-b?
to?
@ -1 73. What is the sum of the squares of
the intercepts cut off by the circle ‘on
(b) 0 . . the axes? -
© 1 ' o2 4 f2V
a“-b
(d) 2 :
71. What is (fuf](—2)+(gog}(—2) equal a2+ p2)°
2 (b) 2 v
to? -
faj -1 . . P b ,i
2
2 2
+ b
() 0 (c) 4[“—}
a-b
fc 1 Lo
{dj 2 {d) None of the above [~ L
lﬁ
B-OEBA-P-QEX/55A 26 ' SEEE v |
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69. f’'(2-5) Fra s 37
(@ -3
(b) -2
¢ ©

@ 2

. T AT AT B (2) Wy % e

e S B f(x) STfrman Qi wee ol
g(_x)rtmw%i

ro. (g0 £1(-2)- (£ = 012 oy o 21

fa) -1
| (bj O
fc) 1

@ 2

7L (o f) (-2 + (g 9) (-2) Fr TR AT

fa) -1
(b} 0
(e} 1

(d) 2.

B-OEBA-P-QEX/SBA
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yefeg o fgall (a, b) M (-b, ~a) B
IR 9T T 99 W T iR

72, T e Y W
fa) x+y=0
fb) x-y=0
. (g xdgeath
@ x-y-a

73. aaﬁmqamm%nﬁm@a%ﬁwﬁm
TR 4 &7

(d) I W § K Tl
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For the next two (2) items that follow :

Let & b be two unit vectors and 6 be
the angle between them.

74. What is cos[g) equal to?

w 128
(v) 'a;’;’
2 'a;’;'
(@ |+ b}

(@ 'a;B'.
(b) 1@;5,
o b
(@) ‘d;”;'

B-OEBA-P-QEX/S5A
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76. Consider the following statements :
, o :
1. There exists 65(—-2—, 5) for which
tan!(tan®) # 6.
2. sin'l[l) - sin'l(lj
3 5

. _1[2J§(J§— 1)J
=gin | —m———
15

Which of the above statements is/are
correct? '

fa) 1 gnly '

{b) 2 only

{c) Both 1 and 2
{d} Neither 1 nor 2

77. Consider the following statements :

1. tan"lx=+ tan'l(-_l—) =1
X

2. Thereexist x, ye{- 1, 1], where x 2 y

1

such that sin~! x +cos™! y= z

2
Which of the above statements is/are
correct? '
fa) 1 only
(b} 2 only

fc} Both 1 and 2

{d) Neither 1 nor 2

e

i bt
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T A AT 2 (2) T & o

= it & 6, b 91 ores wiew € v o
¥ 1 B0 6 B

74. cos(g) s ETIET{ 77

|&- b
)

(@)

{b)

(c)

(d)

(b}

o
|
[y

(c)

g
+
o

{d)

B-OEBA-P-QEX/55A 29
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76. Tafafias HuHt w fomm Hifd .
n
i, 96_(—5, EJ F aﬁrea 2, Fox fog
tan“l(fcane);te%l

2. sin_l(l) - sinﬁl(l)
3 5

_ sin“l(wi(ﬁ_ 1))

15
ST FUA W | BA-T/A w0 B/E
fo
(b) A 2
¢) 1 3R 23

(dj AdM1IH2

77, Frefifea S T R B

1. tan!x+ tan"l(iJ =7
X

2. x, ye[-1, 1] ARF R, T x = y

EL TR e sin ! x+cos ly= 121-

ST A § W BH-A1/Y g 2 /E?
(@) F 1

(b} A 2

fc) 1 3R 2 A

(d) a@1smad2

[P.T.O.
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78, What are the order and degree
_respectively of the differential equation
whose solution is y = cx + c? -3c3/2 42,

where ¢ is a parameter?

fa) 1,2
(b} 2, 2
fej 1,3
d 1,4
79. What is

_[_22xdx ~'J:_22[x}dx

g B equal to, where [-] is the greatest integer
function?

{aj ©
fb) 1
fc) 2
(d 4

80. If | |
[ flx)dx=4 and [P+ foayae =7

then what is fz flx)dx equal to?
{fa) -3

() 2

) 3

(dj S

81l. If lim ti)(x)zag, where a=#0, then
x—0 o

what is lim Q)(-"-C-] equal to?
x—0 \a

@ a |

(o) a*

(c) -a?

{d -a

B-OEBA-P-QEX/55A
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i
82. What is lim e #* equal to?

x-30
{fa} O
fb) 1
e/ -1

{d} Limit does not exist

83. If A is a square matrix, then what is
adj(A~!} - (adjA)"! equal to?

fa) 2|A}
(b} Null matrix

fc) Unit matrix

fd) None of the above

84. What is the binary equivalent of the
decimal number (-31257

(@) 00111
(b) 01010
{c] 0-0101
{d) 01101

85. Let R be a relation on the set N of natural
numbers defined by nRm & nis a factor
of m’. Then which one of the following

is correct? ;

P
{a) R is reflexive, symmetric but not
transitive

{b) R is transitive, symmetric but not
reflexive v

(c) R is reflexive, transitive: but not

symmetric ) Y
[ AT

(d) R is an equivalence relation
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-E-;ﬂw -%FHEF’ — i
78. sEkA %, ) i 82. lim e = @ = 2T .
y=cx+c? -3c¢? 42 R, 9Ef ¢ T I=A x->0

2, Ff2 3 wa ww: @ 27

{a) O
(@ 1,2 w1
(bj 2,72
fc) -1
fc) 1,3
i (@) dm (fafe) =1 st 6t &

2 2 . . 83 W A w A awEp 3§ @
79. [pxde-[lxlde, R[] Sfimmm % adj(A™Y) - (adjA)"! Foress SR B7

, o 3, e o 37
@ o (@) 2|Al
() 1 (b) A I
(c) 2 \ | (c) THH SNTeqE
(d) 4 (d) = A A HE T

80. R fzf(x]dxx4 sin j:{1+f(x)}dx=7

84. NS TGN 0-3125 1 f-anumd goa w7 37
%,a‘rﬁ’zf{x)dxﬁmﬁaw-‘-‘g? _

(@) 00111
(@) -3 | (b} 0:1010
(b) 2 ' () 00101
T fe) 3
({d) 01101
(d) 5 _
_ . 85. WA Wi R, W el F wg=w N W
81. I lim ¢(x)=a®, W& ax0 g @ ‘nRm &, mm@w%’mqﬁq@a
- ¢(£) A7 gwu%a&ﬁmﬁfﬁaﬁﬁﬁq—m@w
x-50.-\a !
{a) a? fa) R Eged, Tfha ¢ foeg doms d
(b) a2 (b) R ¥, Tt ¥ g wged ¥
(c) .-a* . : ' (c) R g, 9FWF & frg wmfim T
@ -a A | (d) R qeoa gae 2

B-OEBA-P-QEX/55A : 31 [P.T.O.
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86. What is j:n|cosx|dx equal to?

fa) O
(b) 2
fc) 4

(@) 8

87. What is the number of natural numbers
less than or equal to 1000 which are
neither divisible by 10 nor 15 nor 25?

(a) 860
(b) 854
(g 840_

(@ 824

88, (a, 2b) is the mid-point of the line
segment joining the points (10, - 6) and
(k, 4). If a-2b=7, then what is the
value of k?

@ 2
(b} 3
fc) 4

{d 5

B-OEBA-P-QEX/55A 32
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89. Consider the following statements :

1. If ABC is an equilateral triangle,
then 3tan(A+ B)tanC= 1

2. If ABC is a triangle in which
A="78, B=66° then

tan(g + C)<_ tan A
"3. If ABC is any triangle, then’
(252)sn(5) <[]
tan sin| — | < cos; —
2 2

Which of the above statements is/are
correct? '

{a) 1 only
(b) 2 only
fc; 1 and 2

{d) 2 and 3 o

90. If A={cosl2-cos36°){sin96°+sin24°)
and B=(sin 60°-sin 1'2°)(co_é;_4_8_°—wcc_)s 72°),
then what is % equal to’?"‘ '
fa) -1
fb) O

fcg 1 L

@ 2 -

.
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86. [, "Icos x|dx T wm ¥7 89. freifirfiaa Fort w fier A ;

1. R ABC Ut wwag Pigw R, @
3tan(A+ B)tanC=1%]

@ O g
2. AR ABC = fiyw %, T A =78, '
) 2 B=66°%,T'htan(§+c)<tanA%l.
¢ 4 : 3. A ABC @K% g &, @
A+B\ . (C C
tan |sin{ = | < cosi = | %1
. (25 3el5) <ol
mmﬁﬁm—m/ﬁﬂﬁ%/ﬁ?
87. W frad w s &, 5t f5 1000 T So w
FERAN L0, AN 15T AR 25 (@) ¥ 1
RCE R Y
(b) FaA 2
{a) 860 '
. (c) 12
(b) 854
© 80 o @ 233
(d)} 824

90. I} A= (cos12°~-cos 36°) (sin 96°+sin24°)
3R B =(sin 60°-sin 12°) {cos48°—cos 72°)’

88. ﬁgai‘r (10 -6) 3 (k, 4) B fem @ % d A fre som 20
] E *

t@rEs & 7RG (a, 2b) R AR a-2p=7
B, & 'k o AW 87

(@) -1
(@) 2 :

b 0
() 3 {b}
(c) 4 | - ) 1

{d 5 . _ @ 2

B-OEBA-P-QEX/55A 33 [P.T.O.
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91. What is the mean deviation from the
mean of the numbers 10, 9, 21, 16,24 ?

(@ 52
(b} 50
() 45

{d) 40

92, Three dice are thrown simultaneously.
What is the probability that the sum on
the three faces is at least 57

17
{a) E
53

B =

103 °

{c) 108

215
216

(d)
93, Two independent events A and B have
P(A)=—;—’ and P(B}=g. What is ‘the

probability that exactly one of the two
_events A.or B occurs?

1
(@) Y

(b}

ovlw

© = .

@ -
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94. A coin is tossed three times. What is the
probability of getting head and tail
alternately?

(a) -é

!

(b)

(c)

NI

{d)

Hlw

95. If the total number of observations is 20,
T x; =1000 and % x? =84000, then

what.is the variance of the distribution?
{a} 1500
(b} 1600
fc) 1700
(d) 1800
96. A card is drawn from a well—shllifﬂed deck

of 52 cards. What is the probability that
it is queen of spade?

1
(@) “5'2“
b)) —

(c)

B

(d)

00 | =
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91. &Ml 10, 9, 21, 16, 24¢rmwﬁmw 94. UF fo@ H @ 9% IS A 7 w3
oo w7 27 - - CHIAU A W IR F e @ 2 ?
(@) 52 | 1 o
. @
(b} 50
._ ]
(c) 45 {b) A
(d) 40 1
fc) 5
92, dH Tl B g B e ¥ v ® 5
qAP % FH-H-HH 5 B B miimar w2 (d) =
@
95. TR Jgon F FA TSN 20 ¥, Tx; = 1000
' " 53 aﬂtzx-sz}ooo%?haa:raﬂm
(,I?), 54 ) ' )
' Fa7 87
o 202 (@) - 1500
108
(b) 1600
@ 22 |
{ . {cj 1700
(d) 1800

+93. ammaﬁAaﬂtB%mP A)_laﬂi

96. 52 TN I TH T W H gE A A
'P(BFW%'E‘?mws@'%AmBﬁ am frren s }) w il @@ § R aw

,am@amqﬁa-@m ) AT
@ - o @ <
2 o
© . o -
(d) {5 B (d) é
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97. If two dice are thrown, then what is the. 100. What is the probability of 5 Sundays in
probability that the sum on the two the month of December?
faces is greater than or equal to 47 1
a —
@ 2 @7
18 5
b} =
. 5 (b) =
¥ 3
c) =
0 % - 7
12 .
{d) None of the above
35 .
@ 52 o o | '
101. If m is the géometric mean of
, \log(yz) Z\lo8(2x) o \logtx)
. 98. A certain type of missile hits the target [g) . 3 [,..J and [_]
with probability p = 0-3. What is the < % Y
least number of missiles should be fired then what is the value of m?
so that there is at least an 80% @ 1
probability that the target is hit?
' (b) 3
(@ S
fe) 6
(b) 6 -
(d} 9
¢ 7
" {d) Nomne of the above 102. A point is. chosen at random inside
' a rectangle measuring 6 ifiches by
99. For two mutually exclusive events A and 5 inches. What is.the ‘probability that
B, P{A)=0-2 and P(ANB)=0-3. What the randommly selected point is at least
is P(A|(AUB)) equal to? ' one inch from the edge of the rectangle?
1 2 '
a) = al —
@ @ 3
2 . - 1
b) = . b} —
b < o
2 1
C - C, bt
© = @ 5
2 2
[ = (d) 5
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97. If% 3 9@ Wk s B, @ 9% wierm @0 g R
TF weE! F AN 4 T 4 ¥ Afe 37

13

{a) 18

5
<

| 11 -
. c) —
' (c) 12

a5

@ =¢

08. UF TN WHER % URUR < AW e H
TR p = 0.3 ¥ ZFea Fran w&wE Tl

T Tk B @sm W W f wReE
FHH-Y-" 80% BI7 '

(@) 5
E (b) 6
| o) 7
y (d) Wﬂ?ﬁﬁﬁéﬁtﬁﬁ

g 99. 3 WER IEfia TeMel A ik B % fou
'. P(A)=02 ¥ PANB)=03 3%
b s P{A| (AU B)) e sue 77

1
fa) 3

- . 2
)

fc)

1|

(d)

w|n
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100. fmmr 7 # 5 o ¥ W 6wl
w87

1
fa) ;

2
(b} -

~w .

{c)

(d) IF F T wE T

| loé(yz) logzx) log (x1/)
101. =f [E) ; (E) i (EJ £
s x Y
O M m B, A m F AH 8

{a) 1
(b} 3
{c/ 6
(d) 9
102. 6 3 T R 5 T NI TH AT F AR T
Tag wrgfosed: T ST ¢ | sEeh Wikl =1

% 5 Agfewwa: g3 U 3w g i 38 o %
FR A g FH-9-F TH 9 8

2
{a) 5

1
®r 3

fe)

P

()

v o

[P.T.O.
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103. The mean of the series x;, x,, .., x, 106. A fair coin is tossed 100 times. What is

is X. If x, is replaced by A; then what
is the new mean?

(a) )_{—XQ + A (a} l
(b} }?_"fd :23
o n . (b} 3
- X5 +

() L2070 -1
. n fc) —

4

(@ ——— @ 3

104. For the data

3,5 1,6,5,9,5 2,8 6

the mean, median and mode are x, y
and z respectively. Which one of the
following is correct?

the probability of getting tails an odd
number of times?

107. What is the number of ways in which

3 holiday travel tickets are to be given
to 10 employees of an organization, if
each employee is eligible for any one or
more of the tickets?

{fa} x=y+#z (€80
b) x=y=z (b) 120
fct xzy=z fe) 500
(dj x=y=z {d) 1000

105. Consider the following staterments in -

respect of a histogram :

1. The total area of the rectangles in
a histogram is equal to the total
" area bounded by the corresponding

108. If one root of the equation

(I-m)x? +Ix+1=0

is double the other and ! is real, then
what is the greatest value of m?

-9 ' 9

frequency polygon and the x-axis. (a) ) (b) 2

2'. : Whén class intervals are unequal in 8 8
T fc} -— {d -—=

a frequency distribution, the area : 9 5 9

of the rectangle is pfoportional to
the frequency.

Which of the above statements is/are

109. What is the number of foﬁr—digit decimal

numbers {<1) in which no digit is

correct? repeated?
@ 1 only fa) 3024
{b) 2 -only {b) 4536
fc) Both 1 and 2 {c) 5040

{d) Neither 1 nor 2

B-OEBA-P-QEX/55A 38
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103. ¥ft x;, x5,

vary xnﬂmfalﬂﬁxgﬂ
A g Sty R sman B, @ W A =
m? '

{a) X‘x2+.’\.

(b}

{c)

{d)

104. 3 3, 5, 1, 6,°5, 9, 5, 2, 8, 6 % fag

Wi, Wfe 3 agerh A x, y AR z

frafafan 3 & $9-w wF w87
fa) x=y+#z

b)) xzy=2

fe) x#y=z -

([d x=y=z

105. T smaatE ¥ o Pretiie S © fER

Hifew ‘

1. w WakE #, sEd W oga See
F FRaRal 959 SN e H e
T ATE % SR EA B

2. Tk SRETE 9§ I @ SHawe S
T R, A wEE w ATk IHARAl &
FOTIT w8

ot el H | B/ w280
(a) Fad 1

{(b) FIA 2

{c) 1323

d Jd13mad2
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106. TF wrd fy@ 100 SR IJWEn A g1 I

R, W % @ o wen @, = oam A
PHDETC ) & A '

@
O
e
@ 3

107, TF WRA % 10 wHORE #wOgE-asn &

39

3%%%@%@@@1% a2 yaw -
FaT T a1 TF Qe R 3 ar 77

{a} 60
(b} 120
fc} 500
(d) 1000

108. 3R FEW (1-m)x? + be+ 1= 0 6 G d

@iwmra’fum%aﬁnmf&as% @ mE
Ffterad we 1 §7

.9 9
(a) r {b} e
© -3 @ ¢

109, 9R-36E ToHeE dEE (< 1) 6, FEd 55

oft o7 Qg wdl e ¥, wen = ev
(a) 3024

(b} 4536

fc) 5040

(d) g & A B A
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110. What is a vector of unit length 113. Consider the following in respect of the
orthogonal to both  the vectors ' rpfrise. A = (‘1 1) ; |
i+]+k and 21 +3j-k? I -1
@) -4 +3j~k 1. A?=-4
V26 2. A3=44
'(b} -47 +3j+k Which of the above is/are correct?
26
fa) 1 only
-3 +2)-k : .
(c) na (b} 2 only
- —31+2j+k - () Both 1 and 2
V14 ' :
' ) (d) Neither 1 nor 2 ?
- 7 - s
111. If @, b and ¢ are the position vectors of 114. Which of the following determinants
' the vertices of an equilateral triangle havelvalie SSb™
whose orthocentre is at the origin, then
which one of the following is correct? 41* 15 )
. 1. {79 7 9
@ 3+b+2=0 29 5 3
l a b+c !
- 7 o . ‘
(b} a+b+c = unit vector 5. |1 3 wora =
i b /
(c) d+ b=¢ ¢ at
3 _ 0 ¢ b
— —
([d a=b+tc 3. |-c 0 a
-b -a O

112. What is the area of the parallelogram
having diagonals 3{+j-2k and
i-3)j+4Kk? '

Select the correct answer using the code
given below. '

{fa) 1 and 2 only
{a) 545 square units

(b} 445 square units . {bj 2 and 3 only

fc) 5V3 square units () 1and 3 only _ I
(d) 15v2 square units (d 1,2 and 3
B-OEBA-P-QEX/55A 40



Ewww.prepp.in | ‘ . repp

¢ Your Personal Exams Guide

110, & wREl {+ j+ & 3l 2 + 3] - £ i

. 11 . '
e _us._axra@-h(l _Jaaaﬁﬁﬁmﬁwﬁaam
. feram fife
(a} % 1 AQ__A
2. A% =4A
—41+3j+k R
(b) —=p=— udth # A FH-1/4 w2/
- -3 +2] -k . ) =l
14 _ _ (b) e 2
_3i+2)+k . | © 1% 2 3
T - ©

(d) @ 1IMIA2

111 3R &, b ¥ ¢ w vy e, Rew | o
was qEreg W R, Wl % Rl wfw &, @ 114, Preafafee e 3.8 R am w87

e # 8 -a T e &7 N1 s
. o 1. |79 7 9
{a) a+b+c=0 29 5 3
: () 3+ +2 TF ahm 1 a bre
: 2 1 b c+a
() d+b=2 ' 1 ¢ a+b
L n 0 ¢ b
@ d=b+¢ a le 0 a
, -b -a 0
112. Rl 37 + - 2f i { - 37+ 44 99 wWiw- | ‘ o
ﬂ'@’.ﬁﬁ;éﬂww%z?' " TP RS TS I S i S
(@ SYSEigwEE  fa) FEE 132
() 45T g | (b} Faa2 3
d (o) 53w o (g ¥ 1R3
(d) 1542 = 38 ' (d) 1, 233
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115. What is the acute angle between "the 118. If'log,{ab) = x, then what is log,(ab)
lines represented by the equations equal to? : ’
y-~3x-5=0and J3y-x+6=07 i
(@) —
X
fa} 30°
x
) +1
(b) 45° | x
x
c ——
© 60° | @ 13
(dj 75° : (@ =
x—1 .
116. The systemm of linear equations 119. If
kx+y+z=1, x+hky+z=1 and !
x+y+kz=1 has a unique solution y=logyp x +log, 10 +log, x +log;; 10
under which one of the following. e R
conditions?
@.
dx &
fa) k=1land k#-2 R
equal to?
b 1 and '
() k#land k=2 @ 10
{c) k#-land k =-2 (b) 2
fc) 1
{dl k+-land k=2
fd) O
117. Whatis the number of different messages
that can be represented by three 0’s _
and two 1’s? 120. Suppose o and w, are two distinct cube
’ : roots of unity different from 1. ‘The‘n '
{a) 10 = what is (o, - )2 equal to?
(o) 9 g 5
(b} 1
fc) 8 y
fc) -1 ‘
(dj 7 _ (d) -3

B-OEBA-P-QEX/55A 42
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115, T y-3x-5=0 3 J3y-x+6=0
g frefia Yanedl & i 1 =" o 87

(@) 30°
(b) 45°
{c) 60°
{d) 75°
116, W wiwwm W kxtyrz=1,
‘ x+ky+z=13R x+y+kz=1F THAA
74 B, A
(@) k=13 k»-2
(b) k=13 k=2
(-c) k#-13k=-2
(d k=-13Mk=2
; 117.m-a€nﬁ%&ﬁiﬁr,a‘r?ﬁqoaﬁw‘l1m
el forg s @k 2, W #0127
fa) 10
(b) 9
() 8

d) 7

B-OEBA-P-QEX/55A 43

prepp

Your Personal Exams Guide

118. AR log,(ab) = x B, T log, (ab) FaH T

27 :

@ 1
X

)

o —

(d) —

119. afe

y=log,; x +log, 10+log, x +log, 10

3, (%) foraeh w27

x=10

fa) 10

by 2

() 1

d) O

" 120, FH AN o, 3R 0, T (GAR) F, 1 W T,

B HET-AT TS &1 W (o - wy)? Trus
TR B7

fa) 3
(b) 1
fct -1

(d) -3
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